T £ T
FA AR LLIAT 705 784 875| 1,659
AL BB LLIET 1,055 1,220 1,332| 2,552
JLEEHT 2,329| 2,709| 2996 5,705
HEBCHT 40 38 56 94
FEZE B CIHT 21 27 40 67
& <FHT 46 66 61 127
PHER & SFHT 37 41 42 83
FriE A ET 562 624 679] 1,303
76 718 N ET 114 89 109 198
b8 A BT 22 30 36 66
ako0=1: 30 38 44 82
B aET 31 39 38 77
1 HT 49 59 81 140
A HT 57 72 74 146
ZEHT 51 48 65 113
HMEFRET 42 44 41 85
F T 49 74 79 153
= RHT 43 40 50 90
R ET 31 40 42 82
Eoikanlidl 36 37 48 85
SR T 67 70 89 159
HaET 42 61 59 120
S FHHET 53 47 61 108
N 199 225 257 482
= R BT 1,076] 1,172| 1,2331] 2503
= H O 83 82 100 182
Fift = HT 13 14 14 28
it EHT 97 90 108 198
EHT 21 23 22 45
= EHT 46 54 56 110
H—TH 35 25 25 50
HWM=TH 26 37 33 70
HM=TH 86 90 106 196
HMmTH 34 39 41 80
HMATH 66 68 72 140




T £ HEY (B T

HI<TH 75 76 85 161
A=HT 32 28 30 58
iF SR = BT 50 63 62 125
L X THET 51 50 47 97
BRI HT 121 83 112 195
HNET 849| 1107 1171 2278
B [E T 104 125 119 244
75 it BT 232 258 272 530
FAHT 236 328 348 676
K HETE 43 53 62 115
W & BT 126 155 168 323
NEFErHT 231 223 264 487
KEHET 118 114 151 265
39 AL BT 230 263 289 552
HiE H5 T 72 79 106 185
KIEET 23 28 23 51
% R T 10 10 13 23
e LLI BT 273 291 299 590
b, B T 68 68 77 145
7k B2 SFHT 149 167 190 357
i [ T 86 105 118 223
=k 557 554 667[ 1,221
Y, e T 213 213 245 458
LT 425 471 513 984
[/ Et) 11,668 13,128 14,593| 27,721
21 - ET 1,964 2275 2496 4771
7% T 78 100 97 197
FZHT 123 163 160 323
AR EHT 190 216 230 446
X 3BT 153 169 204 373
[/ &) 2,508] 2923| 3,187] 6,110
% HHET 1,017] 1,229 1.229| 2,458
13 BT 799 1,003] 1,066 2,069
541 BT 105 138 155 293
FHT 1,214] 1502 1635] 3,137




T £ T

LI FH BT 230 281 280 561
% H 1L BT 1,205 1,390 1543| 2,933
FHHET 618 723 770 1,493
SR [ BT 870| 1,084 1139 2223
[/ &) 6,058 7,350| 7,817 15,167
L =1EHr 62 94 100 194
T =488 969| 1,087| 1265 2,352
gl 1,056] 1,219] 1416] 2,635
= HRET 271 358 379 737
KiTHET 35 55 60 115
= B Ey 20 23 21 44
F F EPHT 116 172 198 370
XiRERT 426 473 413 886
[/ &) 2,955 3481| 3852 7333
12 H BT 194 253 274 527
A BT 46 64 78 142
=Paal:ij} 336 350 425 775
F ST 72 102 120 222
A 3k T 38 61 54 115
5L HT 216 300 325 625
L1 BT 36 56 68 124
FE L KHT 59 97 88 185
# AT 67 101 107 208
[/ Et) 1,064| 1,384 1539 2923
K& <FHT 115 124 153 277
J\SEHT 141 204 234 438
Gi: 2N 120 146 173 319
5 ElFFET 753 854 830| 1,684
=T 187 208 260 468
iz 51 62 72 134
FaHT 114 147 153 300
th SR ET 373 460 446 906
5 =1 HT 438 506 509| 1,015
X8 FH &R <F AT 23 28 40 68
8 H &R F AT 45 49 68 117




HT & HEY (B z

6 FH &R AL BT 1,055| 1,344| 1430 2774
BR F0HT 65 75 86 161
[/ Et) 3,480| 4207| 4454| 8,661
/N SRHET 4,585| 5284 5,777 11,061
INFRET 1,033| 1,260/ 1,305 2,565
it Fa T 564 684 725 1,409
AT 332 379 394 773
=2 T 53 75 74 149
/NER T 360 490 499 989
ith 2z PN ET 146 177 167 344
A Fh T 211 314 318 632
Jiti [58 =F HT 326 404 420 824
75 FH A BT 468 495 525| 1,020
INRETER—TH 118 121 153 274
INRETER_TH 160 155 161 316
INRETER=TH 219 274 309 583
INKETEE—T B 25 26 27 53
INKBTFEZT B 53 67 74 141
INKBTEE=T B 77 88 81 169
[/ Et) 8,730 10,293| 11,009 21,302
[ & ) 36,463| 42,766| 46,451| 89,217
CANEIPN SN 416 366 390 756
(& Ef) 36,879 43,132 46,841| 89,973




